B2 fFHEAE
rtresEeLg o ZHERBPALRESH
M EE LRI RELHAEAR
EEHE (—) TRHSRA

o F ERSD . 2—H #—H

| 1 ksxamst 7am > B4 100 4
9 B AM - TRBEAE > AL
&gﬁ%#ﬁﬁ&%#%z%%ﬁﬁﬁ%'%Hx%ﬁ%o

1. Solve the differential equation (15%)

xy’+y—x2y4 =0
2. Solve the non-homogeneous Cauchy-Euler equation (15%})

Xoy" + xzy" ~2xy' +2y=2/x

3. Aconeis givenby z=+ x? + y2 , determine the normal vector at the point

(3, 1,410) (10%).

4. Express the following function in a Fourier integral and determine what this
integral converges to (15%).

f(x)=1 for —1<x<1

=0 for |x|>1




/)

5. What is the Laplace transform of the arc of the parabola y = —t? +3t-2

that lies in the first quadrant (15%).

6. Find the inverse of

-1 1 2
3 -1 1{ (15%).
-1 3 4

7. Use the divergence theorem to evaluate

I= IIXdedz + xzydzdx + xzzdxdy
S

2

24 y2 242,

where S is the closed surface consisting of the ¢ylinder x

0<z<b, and the circular disks z=0,and z= b(x2 + y2 Saz)(IS%).



	17-1.pdf
	17-2.pdf

